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Tutor Marked Assignment
dqy vad% 20

Max. Marks: 20

fVIi.kh% (i) lHkh iz'uksa ds mÙkj nsus vfuok;Z gSaA izR;sd iz'u ds vad mlds lkeus fn, x, gSaA
Note: All questions are compulsory. The marks allowed for each question are given at same place.

(ii) mÙkj iqfLrdk ds izFke i`"B ij Åij dh vksj viuk uke] vuqØekad] vè;;u dsUnz dk uke vkSj fo"k;
Li"V 'kCnksa esa fyf[k,A
Write your name, enrolment number, AI name and subject on the top of the first page of the
answer sheet.

1- fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mÙkj nhft,A 2

Answer any one of the following questions.
a) ,d fuca/ izfr;ksfxrk esa vk;kstdksa us r; fd;k fd izR;sd fotsrk dks 100 #i;s vkSj fotsrk dks NksM+dj izR;sd

izfrHkkxh dks 25 #i;s iq:Ldkj ds :i esa fn, tk,axsA ;fn iq:Ldkjksa esa ckaVh xbZ jkf'k 3000 #i;s gks rks dqy
63 izfrHkkfx;ksa esa fotsrkvksa dh la[;k Kkr dhft,A (ikB 5 ns[ksa)
The organisers of an essay competition decide that winner in the competition gets a prize of
Rs.100 and a participant who does not win get a prize of Rs. 25. The total prize money distributed
is Rs. 3000. Find the number of winners, if the total number of participant is 63. (See lesson 5)

b) ,d iz;ksx'kkyk esa fdlh fuf'pr iz;ksx esa cSDVhfj;k dh la[;k 2-5% izfr ?kaVs dh nj ls c<+ jgh gSA ;fn iz;ksx
ds 'kq: esa cSDVhfj;k dh la[;k 5]06]000 Fkh rks 2 ?kaVs ds vUr esa cSDVhfj;k dh la[;k Kkr dhft,A

(ikB 8 ns[ksa)
In a laboratory, the count of bacteria in a certain experiment was increasing at the rate of 2.5% per
hour. Find the number of bacteria at the end of 2 hours if the count was initially 5,06,000.

(See lesson 8)

c) vkÑfr esa] ABCDE ,d le iapHkqt gSA a, b rFkk c esa laca/ Kkr dhft,A (ikB 13 ns[ksa)

In figure ABCDE is a regular pentagon. Find the relation between a, b and c. (See lesson 13)
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d) a rFkk b ds fdl eku ds fy, fn, x, jSf[kd lehdj.k ds ;qXe ds vuar gy gksaxsA (ikB 5 ns[ksa)
For which values of a and b does the following pair of linear equations have infinite number of
solutions? (See lesson 5)

               2x+3y=7
(a-b)x + (a+b)y = 3a+b - 2

2- fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mÙkj nhft,A 2

Answer any one of the following questions.

a) nh xbZ vkÑfr esa PA, QB, RC rFkk SD lHkh js[kk l ds yEcor gSA ;fn AB=6 lseh] BC=9 lseh-] CD=12
lseh rFkk SP=36 lseh- gks rks PQ, QR, RS rFkk PS dk eku Kkr dhft,A (ikB 12 ns[ksa)

In given figure PA, QB, RC and SD all are pendicular to a line L. It AB=6cm, BC=9cm, CD=12
cm and SP=36cm then find P8, QR, RS and PS. (See lesson 12)
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b) ,d 6 ehVj yEcs mèokZ/j [kEcs dh tehu ij 4 ehVj yEch ijNkbZ curh gSA mlh le; fdlh Vkoj dh tehu
ij ijNkbZ 28 ehVj curh gSA Vkoj dh ÅapkbZ Kkr dhft,A (ikB 23 ns[ksa)
A vertical pole of length 6m casts 4m long shadow on the ground. At the same time a tower casts
28m long shadow on the ground. Find the height of the tower. (See lesson 23)

c) vkys[kh; fof/ ls] js[kkvksa y=x, 3y=x rFkk x+y=8 }kjk cuus okys f=kHkqt ds 'kh"kZ Kkr dhft,A
(ikB 19 ns[ksa)

Determine graphically, the vertices of the triangle formed by the lines y=x, 3y=x and x+y=8
(See lesson 19)

d) ,d deht dk lwph ewY; ` 220 gSA lsy esa 20% cV~Vs dh ?kks"k.kk dh tkrh gSA bl deht ij cVVs dh jkf'k
D;k gS vkSj bldk foØ; ewY; D;k gS\ (ikB 8 ns[ksa)
The list price of a shirt is ` 220, A discount of 20% is announced on sales. What is the amount of
discount on it and its sale price? (See lesson 8)

3- fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mÙkj nhft,A 2

Answer any one of the following questions.

a) ,d nw/okys us viuh nks HkSlksa dks ` 20]000 izfr HkSl dh nj ls cspkA ,d HkSl ij mls 5% dk ykHk gqvk
rFkk nwljh HkSal ij mls 10% dh gkfu gqbZA bl lkSns esa mldk dqy ykHk vFkok gkfu Kkr dhft,A

(ikB 8 ns[ksa)
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A milkman sold two of his buffaloes for ` 20,000 each. On one he made a gain of 5% and on the
other a loss of 10% find his over all gain or loss. (See lesson 8)

b) ,d 'kgj esa VSDlh dk fdjk;k bl izdkj gS% igys fdyksehVj ds fy, fdjk;k  ` 20 gS] rFkk blls vkxs dh
nwjh ds fy, fdjk;k ` 6 izfr fdyksehVj gSA r; dh xbZ nwjh ,oa dqy fdjk, dks pj ekurs gq, bl 'krZ ds
fy, ,d jSf[kd lehdj.k fyf[k, rFkk bldk vkys[ku dhft,A (ikB 5 ,oa 19 ns[ksa)
The taxi fare in a city is as follows:
For the first kilometre, the fare is ` 20 and for the subsequent distance is ` 6 per kilometre. Write
a linear equation for the condition by using distance covered and total fare as variable and draw its
graph. (See lesson 5 & 19)

c) nh xbZ vkÑfr esa] QT ⊥  PR, ∠TQR = 50o rFkk ∠ SPR=40o, rc a, b rFkk c dk eku Kkr dhft,A
(ikB 10 ns[ksa)

In fig.: QT ⊥  PR, ∠TQR=50o and ∠ SPR=40o, find the value of a, b and c. (See lesson 10)
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d) ,d lef¼ckgq f=kHkqt PQR esa] PQ=PR=17 lseh- rFkk QR=16 lseh- gSA ;fn f=kHkqt dk dsUnzd G gS] rks PG
Kkr dhft,A (ikB 14 ns[ksa)

In a isoscles triangle PQR, PQ=PR=17 cm and QR=16 cm. If G is centroid of triangle, find PG.
(See lesson 14)

4- fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mÙkj nhft,A 4

Answer any one of the following questions.

a) ;fn x
x

4
4

1
47+ = , rc x

x
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3

1
+  dk eku Kkr dhft,A (ikB 2 ns[ksa)

If x
x

4
4

1
47+ = , then find the value of x

x
3

3

1
+ . (See lesson 2)

b) deyk us fdlh O;kikj esa P  ` 8000 dk fuos'k fd;kA mls 5% okf"kZd nj ls pØo`f¼ C;kt dk Hkqxrku fd;k
tk,xkA ;fn C;kt okf"kZd :i ls la;ksftr gksrk gS rks (ikB 9 ns[ksa)
(i) nks o"kZ ds var esa mlds uke ls tek dh xbZ jkf'k Kkr dhft,A
(ii) rhljs o"kZ dk C;kt Kkr dhft,A
Kamla invested ` 8000 in a business. She would be paid interest at 5% per annum compounded
annualy. Find (See lesson 9)

T
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(i) The amount credited against her name at the end of the second year.
(ii) The interest for the third year.

c) ,d ledks.k f=kHkqt dh jpuk dhft, ftldh ledks.k cukus okyh Hkqtk,a Øe'k% 8 lseh rFkk 6 lseh- gSaA bl
f=kHkqt ds vUr%o`Ùk dh jpuk djds vUr%o`Ùk dh f=kT;k Kkr dhft,A (ikB 18 ns[ksa)

Construct a right angle triangle whose sides which makes the right angle are 8cm and 6cm respec-
tively. Find the radius of incircle after constructing incircle of this triangle. (See lesson 18)

d) uhps nh xbZ ckjEckjrk lkj.kh dk ekè; 50 gSA oxZ 20&40 rFkk 60&80 dh ckjEckjrk ugha nh xbZ gSA nksuksa oxZ
dh ckjEckjrk Kkr dhft,A (ikB 24 ns[ksa)

The mean of the following frequency table is 50. But the frequencies of classes 20-40 and 60-80
are missing. Find the missing frequencies. (See lesson 24)

oxZ@Classes 0&20 20&40 40&60 60&80 80&100 dqy@Total

ckjEckjrk@frequencies 17 \ 32 \ 19 120

5- fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mÙkj nhft,A 4

Answer any one of the following questions.
a) ;fn fdlh f=kHkqt esa ,d dks.k dk lef¼Hkktd lEeq[k Hkqtk dks lef¼Hkkftr djrk gS] rc fl¼ dhft, fd

f=kHkqt lef¼ckgq gSA (ikB 14 ns[ksa)
If the bisector of an angle of a triangle bisects the opposite side, prove that the triangle is isocceles.

(See lesson 14)

b) ,d Nk=kkokl esa gksus okys eghus ds [kpZ dk dqN Hkkx fLFkj gS rFkk 'ks"k Hkkx [kkuk [kkus ds fnuksa dh la[;k
ij fuHkZj djrk gSA ;fn ,d fo|kFkhZ 20 fnu [kkuk [kkrk gS rks mls dqy [kpZ ̀  1000 nsuk iM+rk gS] ijUrq nwljk
fo|kFkhZ tks 26 fnu [kkuk [kkrk gS dqy [kpZ ` 1180 nsrk gSA jSf[kd lehdj.k ds ;qXe cukdj chtxf.krh;
fof/ ls gy djds Nk=kkokl dk fLFkj [kpZ rFkk [kkus dk izfrfnu [kpZ Kkr dhft,A (ikB 5 ns[ksa)
Form the pair of linear equations in the following problem and find their solution by algebraic
method:
A part of monthly hostel charges is fixed and the remaining depends on the number of days one
has taken food in the mess. When a student takes food for 20 days, she has to pay ̀ 1000 as hostel
charges wheres another student who takes food for 26 days, Pay ̀ 1180 as hostel charges. Find the
fixed charges and the cost of food per day. (See lesson 5)

c) ,d Hkou fuekZrk ?kksf"kr djrk gS fd ,d Hkou dk uxn ewY; ` 3000000 gS rFkk bls ` 1031600 dh rqjUr
vnk;xh vkSj rhu leku frekgh fdLrksa ij [kjhnk tk ldrk gSA ;fn fy, tkus okys C;kt dh nj 10% okf"kZd
gS rFkk C;kt izfr frekgh la;ksftr gksrk gS] rks fdLr ;kstuk esa izR;sd fdLr dh jkf'k Kkr dhft,A dqy C;kt
Hkh Kkr dhft,A (ikB 9 ns[ksa)
A builder announces sale of flats each for ` 3000000 cash or ` 1031600 cash down payment and
three equal quartery instalments. If the rate of interest charged is 10% per annum compounded
quarterly, compute the value of each instalment under the instalment scheme. Also find the total
interest. (See lesson 9)

d) a ehVj rFkk b ehVj ÅapkbZ ds nks [kEcs ,d nwljs ls p ehVj dh nwjh ij gSA fl¼ dhft, fd izR;sd [kEHks ds

ikn ls nwljs ds Åijh fljs dks feykus okyh js[kkvksa ds izfrPNsn fcUnq dh ÅapkbZ 
ab

a b+
 ehVj gSA
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Two poles of height a metres and b metres respectively are p metres apart. Prove that the height of
the point of intersection of the lines joining the top of each pole to the foot of the opposite pole is

given by 
ab

a b+
 metres.

6- uhps nh xbZ pkj ifj;kstukvksa dh lwph esa ls dksbZ ,d ifj;kstuk 500 'kCnksa esa rS;kj dhft,A 6

Make any project out of the four given blow in 500 words.

a) vkbZ-ih-,y- ds fdlh ,d eSp ds vkadM+ksa dks ,d=k dhft, rFkk nksuksa Vheksa ds izn'kZu ls lacaf/r lwpukvksa dks
fuEu lanHkks± esa fo'ysf"kr dhft,% (ikB 24 ns[ksa)

Collect the data of any IPL Match and analyse the information of both teams in undermentioned
contexts: (See lesson 24)

i) izfr vksoj ju cukus dh nj

Run-rate per over

ii) 5osa] 10osa] 15osa rFkk 20osa vksoj esa cuk, x, juksa dh la[;k

Run scored in 5th, 10th, 15th and 20th over

iii) xsanckt }kjk izfr vksoj fn, tkus okys juksa dh la[;k rFkk fy, tkus okys dqy fofdVksa dh la[;k

Wicket taken and runs per over given by bowlers

bl lEiw.kZ lwpuk dks fuEu lanHkks± esa iznf'kZr dhft,%

Represent the whole information in detail in–

iv) rkfydk cukdj fyf[kr :i esa

Written form using tables

v) n.M vkys[k }kjk fp=k :i esa

Pictorial forms- Bar Charts

vi) xsanckth ,oa cYysckth iSVuZ bR;kfn dks rkfydk }kjk rqyukRed :i esaA

Tabular form- Comparisons on bowling pattern, batting pattern etc.

b) dkxt dh yEckbZ] pkSM+kbZ rFkk fod.kZ ds vuqfn'k Øeokn eksM+dj cuus okyh Øhtksa ls fofHkUu vkÑfr;ksa dks
igpkuuk rFkk mudh la[;k tkuukA (ikB 13 ,oa 15 ns[ksa)

By folding the paper along length, breadth and diagonal one after the other and naming the figures
so formed.

blds fy, fuEu fofHkUu pj.k yhft,%

For this, follow the following steps:

i) ,d fdlh Hkh vkdkj dk oxkZdkj dkxt yhft,A

Take a square paper of any dimension
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ii) yEckbZ ds vuqfn'k (eè; fcUnqvksa dks tksM+dj) dkxt dks eksfM+, rFkk nckdj ,d Øht cukb,A

Fold it lengthwise in two equal parts (from mid-points) to get a crease.

iii) bl eqM+s gq, dkxt dks pkSM+kbZ ds vuqfn'k eksM+dj ,d vU; Øht cukb,A

Repeat it breadthwise also, after the first fold to get another crease.

iv) nks ckj eksM+s x, dkxt dks fod.kks± ds vuqfn'k eksM+dj vU; Øht cukb,A

Now fold the double folded paper along a diagonal and get a crease.

v) eqM+s gq, dkxt dh [kksy nhft,A

Unfold the paper yEckbZ ds vuqfn'k
Lengthwise fod.kZ ds vuqfn'k

Diagonalwise

pkSM+kbZ ds vuqfn'k
Breadthwise

fod.kZ ds vuqfn'k
Diagonalwise

vc [kqys dkxt ls Øht }kjk cuus okyh fofHkUu vkÑfr;ksa tSls oxZ] f=kHkqt] ledks.k f=kHkqt] js[kk[k.Mksa dh
la[;k bR;kfn dks n'kkZrh gq, ,d rkfydk cukb,A

Make a table showing squares, triangles, right triangles and the number of line segments from the
opened sheet, where creases are formed.

js[kk[k.Mksa dh la[;k ledks.k f=kHkqtksa oxks± dh vk;rksa dh leyEcksa dh vU; leryh;
tks ,d fljs ls nwljs dh la[;k la[;k la[;k la[;k vkÑfr;ksa dh la[;k
fljs rd tkrh gSa
Number of line Number of Number of Number of Number of Any other plane
segments running right squares rectangles Trapeziums figure and
from one end to other triangles their number

bl lafØ;k dks ,d vU; cM+s oxZ ds lkFk yEckbZ] pkSM+kbZ rFkk fod.kZ ds vuqfn'k nks ckj eksM+dj Øht cukb,
rFkk dkxt dh [kksydj mijksDr izdkj dh rkfydk cukb,A D;k vkidks mijksDr rkfydk esa nh xbZ vkÑfr;ksa
ds vfrfjDr dqN vkSj vkÑfr;ka Hkh feyrh gSa\ D;k mudh la[;k Hkh cnyrh gSA bl ij fVIi.kh dhft,A
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Repeat this activity for a bigger square folding it twice lengthwise and breadthwise and twice
diagonalwise. Unfold the paper and make a table of above type for that. Can you find more plane
figures (other than those in the above table? Is the types of figures and their Frequency changing.

c) ,d fdlku ,oa ,d nqdkunkj ds O;olk; dk voyksdu fuEu lanHkks± esa foÙkh; o"kZ 2013&14 (01 vizSy
2013 ls 01 ekpZ 2014) ds vUrxZr dhft,% (ikB 8 ,oe~ 9 ns[ksa)

Observe the business of a shopkeeper and a farmer in the financial year 2013-14 (from 1st April
2013 to 31st March 2014) in respect to undermentioned contexts: (See lesson 8 & 9)

i) nqdku esa miyC/ 10 lkeku rFkk fdlku }kjk mxkbZ xbZ iQlysa

10 Available items is shop and crops ropped by the farmer

ii) nqdkunkj ds fy, dqy [kpZ (fdjk;k] oLrq dk Ø;ewY;] fctyh] iQksu] ;krk;kr ,oa etnwjh dj) rFkk
fdlku ds fy, dqy [kpZ (cht] [kkn] ikuh] etnwjh] ;krk;kr)

Total expenditure of shopkeeper (Rent, C.P. of articles, Transport, electricity, phone, Tax)
and total expenditure of farmer (cost of seed, Fertilizer, water, labour and transport)

iii) dqy fuos'k ,oa dqy vk;

Total investment and total income

iv) ykHk % ;k gkfu %

Profit% or loss%

fo'ys"k.k dhft, fd fdl O;olk; esa vf/d ykHk gqvk vkSj dkj.kksa dh lwph rS;kj dhft,A

Analyse, which business is profitable and enlist the reasons?

d) vius vkl&ikl dh fdlh nqdku ij tkb, rFkk fdUgha pkj oLrqvksa ds fy, [kjhnus dh ;kstuk ds laca/ esa
vkadM+s ,d=k dhft,A fdlh ,d fo'ks"k ds lanHkZ esa fofHkUu nqdkuksa ls udn ewY; rFkk fdLrksa }kjk [kjhn Ldhe
dk vè;;u dj fuEu rkfydk cukb,%

oLrq dk nqdku udn ewY; rqjUr Hkqxrku ekfld fdLrksa izR;sd fdLr C;kt
uke Shop Cash Price Down payment dh la[;k dh jkf'k dh nj

Name of No. of monthly Amount of each Rate of
article instalments instalment interest

Vsyhfotu igyh First -------------------- -------------------- -------------------- -------------------- ----------------
(leku ekWMy) nwljh Second -------------------- -------------------- -------------------- -------------------- ----------------
(same model) rhljh Third -------------------- -------------------- -------------------- -------------------- ----------------

Television pkSFkh Forth -------------------- -------------------- -------------------- -------------------- ----------------

C;kt dh njksa ls Kkr dhft, fd fdl nqdku dh fdLr ;kstuk vPNh gS\ vU; rhu oLrqvksa ds fy, Hkh ,slh
gh rkfydk cukb, rFkk C;kt dh njksa dh rqyuk dhft,A (ikB 8 ,oe~ 9 ns[ksa)
Visit to your nearby shop and collect the data regarding purchasing any four items under plan
scheme. Make a table of purchase scheme under cash Price and instalments regarding any special
item. (See lesson 8 & 9)
Compare the rates of interest and find which offer is best.
Make similar table for other three items and compare the rate of interest.


